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QUESTION 1

Given the following function: 

What does [n] specify? 

A. the number of occurrences of the old that will be skipped from the beginning 

B. the number of occurrences of the old that will be replaced from the beginning 

C. an array of the new values 

D. an array of the old values 

Correct Answer: C 

 

QUESTION 2

Given the following code: 

Which statement will return the value for results as 25.0 when it is put in place of the blank line shown above the "}else{"
statement? 

A. results = atoi (var); 

B. results = atof (var); 

C. results = stringtointeger (var); 

D. results = stringtofloat (var); 

Correct Answer: C 
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QUESTION 3

Consider the following requirements for integration with Salesforce: 

Transaction information needs to be pushed back to Salesforce and synchronized. You must be able to 

synchronize a transaction with up to 1,000 lines back to the Opportunity Product object in Salesforce. 

On the basis of these requirements, which three XSL sets should you use to provide the integration? 

(Choose three.) 

A. SFDC Opportunity ?Import 

B. SFDC Quote ?Upset 

C. SFDC Products ?Upset All (200, 400, 600, 800, 1000) 

D. SFDC Quote ?Process Updates 

E. SFDC Opportunity ?Upload 

Correct Answer: C 

 

QUESTION 4

You want to control the information that can be viewed on the transaction page. What must you create to accomplish
this? 

A. Constraint Rules 

B. Transition Rules 

C. Participant Profiles 

D. Internal User Definitions 

E. Library Functions 

Correct Answer: C 

 

QUESTION 5

A new user group has been created in the development environment. What should you do to migrate this new user
group to the production environment? 

A. Migrate Commerce to the production environment. 

B. Migrate the new user group to the production environment. 

C. Manually create the new user group in the production environment. 
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D. Migrate the new users to the production environment. 

Correct Answer: B 
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